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Directions: Read each question below and work it out in the space provided. Check your answers.
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ANSWERS:
5) x° +4xy + 2y
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9) No Solution
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18) What is the value of 7% — 2[3 + 2(5-1)]?
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36) Which of the following graphs represents the
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Answer Choices for #34 & #35: . :
‘A. {x | xis areal number} B. {} C. {xix_z 4}
D {x|x<4} E {x|-4<x<4}

F {x|x2—4} G. {x|x<-4}

34) The graph below is an AND compound inequality.
Identify the final solution. '

35) The graph below is an OR compound |
inequality. Identify the final solution.
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